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10XX1 aec.=10 aec. nan 100
101 er.=10 cr. pam 1000
101 xpma.=10 x. nan 10000
101 aec.x.=1 ¢r. x.nan 100000
5 101 er. x.—=1 mna. nan 1,000000
ocxul. nayuns: 1 <2 e1. =2 ea.=2
10<2 ea =2 aec.=—=20
10332 pec.—2 1. =290
n el marareks A0 90 <2,
oAwpb Ha onmkn: 1 ex— 1X1 ea
1 A —=100¢] en
1 icr.=10><l iec.
1 x=10x<l cr.=100>€1 1.
=1000 wn THii nar.
Ako mapbuews Hail noaru-1l exnEmUE (cup.
pocre-rh; 1, 2, 8, 4, 5, 6, 7, 8, 9) edu-
s 0ms Mepes Paspeds, 10 jgecATAnH-1E me
FHJRTD COUNUYL 0 6MOPY Pas3peds, CTOTH-
b-T5—edunuyps oms mpemu psapeds u 1. Har.
aaeann-15 o1s  chbku  cuabayiomu paspens
mBars 10 n&ra no rorbMe oTb | eIMHALM-
1t Ha npbamiymia paspeis; B ChKH paspeis
pva 1o 10 egmmmnm, jecara-ra ef. chkora
HBA TbPBa eIWHUNA Ha cabiylomia paspers.
2. ITmcmenno. A3nb uckasBams unca0-10 852.
0JIKO Iu&PH Tph0aTT 33 1a ¢a HaNMIIe TOBA YH-
c10?— Amm kaksu nuepr? — Heka Hannmens ro-
a UACKO M HeKa TypuM® CBKH paspeis oTh He=
ropu-Th eJuHMIE BB OTXBIHH KBajpaliera,




